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Section 2

Exercise 1: Questions 1-5
Preparing for Diwali

Answer in ENGLISH.

Example:

Who is visiting the family at Diwali?

Look at Questions 1 to 5.

1 What is Raju doing on the outside of the card?

..................................................................................................................................................... [1]
2 What is he doing inside the card?
..................................................................................................................................................... [1]
[Pause]
3 What is Meena interested in?
..................................................................................................................................................... [1]
4 What will she use as a decoration?
..................................................................................................................................................... [1]
5 Why does Raju need his uncle to buy fireworks?
..................................................................................................................................................... [1]

[Total: 5 marks]

© OCR 2007



Exercise 2: Questions 6-10
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[Total: 5 marks]
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Exercise 3: Questions 11-15
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[Total: 5 marks]
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Exercise 4: Questions 16-20
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Section 3

Exercise 1: Questions 1-6
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Exercise 2: Questions 7-11
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Exercise 3: Questions 12-16
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Exercise 4: Questions 17-20
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Exercise 5: Questions 21-25

At a railway station in Rajkot
Rahul is talking about his experience at a railway station in Rajkot.

Answer in ENGLISH.

Example:
Why was Rahul travelling to Jamnagar?

to see his grandfather

Look at Questions 21 to 25.

21 What happened while Rahul's uncle was settling the taxi fare?

..................................................................................................................................................... [1]
22 Why did Rahul particularly not want to loose the luggage?
..................................................................................................................................................... 1]
[Pause]
23 Why did the porter call Rahul?
..................................................................................................................................................... [1]
24 How did the porter react when offered a tip?
..................................................................................................................................................... 1]
25 Why did Rahul feel ashamed?
..................................................................................................................................................... [1]

[Total: 5 marks]
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